
Equations of Circles 
IC4 



Where (h, k) is center 
and r is radius 

(x – h)2 + (y – k)2 = r2 



Center: (1, -3)  
Radius:  2 

Center: (2, -1)  
Radius:  4 



(x – 0)2 + (y – 0)2 = 52 

(x – h)2 + (y – k)2 = r2 

x2 + y2 = 25 

Center: (4, 4)  
Radius:  5 

(x – 4)2 + (y – 4)2 = 52 

(x – 4)2 + (y – 4)2 = 25 

*Center is midpoint of diameter* 
*Radius = half of diameter* 



d = (−7 − 3)2+(−6 − 6)2 

d = 102 + 122 

d = 244 

r =
244

2
 

Center→ midpoint of 
diameter 

(
6+(−6)

2
, 3+(−7)

2
) 

(0, -2) 
(x – 0)2 + (y + 2)2 = (

244

2
)2 

x2 + (y + 2)2 = 
244

4
 

x2 + (y + 2)2 = 61 

Distance between is the radius 
of circle 

r = 3 

(x + 2)2 + (y – 5)2 = 32 

(x + 2)2 + (y – 5)2 = 9 



Center: (4, -3)  
Radius:  1 

(x - 4)2 + (y + 3)2 = 12 

(x - 4)2 + (y + 3)2 = 1 

Old Center:  
(-5, -7)  
+2    +6 
New Center: 
(-3, -1) 
 
Radius:  6 

(x + 3)2 + (y + 1)2 = 36 



Center: (0, 0)  
Radius:  5 

Center: (0, 0)  
Radius:  10 

Probability = 
𝑠𝑢𝑐𝑐𝑒𝑠𝑠 𝑟𝑒𝑔𝑖𝑜𝑛

𝑡𝑜𝑡𝑎𝑙 𝑟𝑒𝑔𝑖𝑜𝑛
 = 

π 5 2

π 10 2 = 
25π

100π
 = ¼ 

 


